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verify_partial_correctness : pgm -> bool
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o Abs:

Q@pre true
@post 0 <= rv && (xv == x || rv == -x)
int Abs(int x)
{
if (x < 0) {
return -x;
} else {
return x;
}
}

o AbsArray:

@pre 0 <= |a0|
@post forall k. (0 <= k && k < |rv| -> rv([k] >= 0)
int[] AbsArray(int[] a0) {

int[] a;

int i;

a := a0;

for

@L: 0 <=1i && i <= lal &&
forall j. (0 <= j & j < i -> alj] >= 0)

(i :=0; i< lal; i :=1+ 1) {
if (ali]l < 0) {
alil := -alil;
}
}
return a;



e LinearSearch:

@pre 0 <= 1 && u < |al

Q@post rv <-> exists j. (1 <= j && j <= u && alj] == e)

bool LinearSearch(int[] a, int 1, int u, int e) {

int i;

for
OL: 1 <= i && forall j. (1 <= j & j < i -> a[j]
(i :=1; i<=u; i:=1i+ 1)

{

if (ali] == e)
return true;

}

return false;

}
o BubbleSort:

Q@pre |arrO| >= 0

@post sorted(rv, 0, |rv| - 1)

int[] BubbleSort(int[] arr0) {
int[] arr;

int i;
int j;
int temp;
arr := arxr0;
for
@L1: -1 <= i &% i < |arr| &% partitioned(arr, 0, i, i+1,
sorted(arr, i, larr| - 1)
(i := larrl - 1; i >0; i =1 - 1)
{
for
QL2: 1 <=1 && i < |arr| && 0 <= j && j <=1
&& partitioned(arr, 0, i, i + 1, |arr| - 1)
&& partitioned(arr, O, j - 1, j, j)
&& sorted(arr, i, larr| - 1)
(j :=0; §<i; j:i=3+1
{
if (arr[j]l > arr[j + 11) {
temp := arr[j]l;
arr[j] := arr[j + 1];
arr[j + 1] := temp;
}
}
}
return arr;
}
e FindMazx:

Q@pre lal >= 1

@post (forall k. 0 <=k && k < |al -> alk] <= rv) &&
(exists k. 0 <= k && k < |al && al[k] == rv)

int FindMax (int[] a)
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int i;
int m;
i :=0;
m := al[0];
while
@L: 0 <= 1i && i <= |al
&& (forall k. 0 <=k & k < i -> alk] <= m)
& lal >= 1 && (al0] == m || (exists k. 0 <= k && k < i && alk] == m))
1< lal)
{
if (afi]l > m) { m := al[il; }
i::=1i+1;
}
return m;

}

e BinarySearchRec:

Opre 0 <= 1 && u < |al &% sorted(a, 1, uw)

@post rv <-> exists i. (1 <= i && i <= u && al[i] == e)
bool BinarySearch(int[] a, int 1, int u, int e) {
int m;
bool res;
if (1 > u) return false;
else {
m:= (1 +u) / 2;
if (a[m] == e) return true;
else if (alm] < e) {
call res := BinarySearch(a, m + 1, u, e);
return res;
}
else {
call res := BinarySearch(a, 1, m - 1, e);

return res;
}
}
}
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Opre lal >= 1
@post (forall k. O <=k && k < |a| -> al[k] <= rv) &&
(exists k. 0 <= k && k < lal && al[k] == rv)

int FindMax (int[] a)
{

int i;

int m;

i :=2; // bug

m := al[0];

while

@L: 0 <= i && i <= |al



&% (forall k. 0 <=k && k < i -> al[k] <= m)

&& lal >= 1
&& (al0] ==m || (exists k. 0 <=k && k < i && al[k] == m))
(1 < lal)
{
if (afi]l > m) { m := al[il; }
i=1i+1;
}
return m;

}
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@pre lal >= 1

@post (forall k. O <= k && k < |al -> a[k] <= rv) &&
(exists k. 0 < k && k < |al && a[k] == rv) // bug

int FindMax (int[] a)

{
int i;
int m;
i :=0;
m := al[0];
while
QL: 0 <= i && i <= |al
&& (forall k. O <= k & k < i -> al[k] <= m)
&& lal >= 1
&& (al0] ==m || (exists k. 0 <=k && k < i && al[k] == m))
1 < lal)
{
if (afi]l > m) { m := al[il; }
i=1i+1;
}
return m;
}
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verify_termination : pgm -> bool
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o LinearSearch:

@re 0 <= 1 && u < |al

Opost true
bool LinearSearch(int[] a, int 1, int u, int e) {
int i;
for
@L: u < |al
# (lal - 1)
(1 :=1; i<=u; i :=1i+ 1)
{

if (ali] == e)
return true;
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return false;

}

e BinarySearch:

Gpre u -1+ 1> 0

Opost true

# (u-1+1)

bool BinarySearch(int[] a, int 1, int u, int e) {

int m;
bool res;
if (1 > u) return false;
else {
m:= (1 +u / 2;
if (a[m] == e) return true;
else if (alm] < e) {
call res := BinarySearch(a, m + 1, u, e);
return res;
}
else {
call res := BinarySearch(a, 1, m - 1, e);
return res;
}
}
}

e LinearSearch:

@pre 0 <= 1 && u < |al

@post true
bool LinearSearch(int[] a, int 1, int u, int e) {
int i;
for
QL: u < |al
# (lal - 1)
(i :=1; i<=i;i:=1+ 1) // bug
{

if (a[i] == e)
return true;

}

return false;

}

e BinarySearch:

Gpreu -1+ 1> 0

O@post true

# (u-1+1)

bool BinarySearch(int[] a, int 1, int u, int e) {
int m;
bool res;



if (1 > u) return false;

else {
m:= (1 +u / 2;
if (alm] == e) return true;
else if (alm] < e) {
call res := BinarySearch(a, m, u, e); // bug
return res;
}
else {
call res := BinarySearch(a, 1, m - 1, e);
return res;
}
}



